CLASS:-12TH POLITICAL SCIENCE, CHAPTER:-01

Very Short Answer Type Questions [1 Mark]

1. Why was the North Atlantic Treaty Organisation also called Western Alliance?

Answer: The North Atlantic Treaty Organisation was an association of twelve states. All
these states belonged to western Europe. Therefore, this association was also called
Western Alliance.

2. Name the two superpowers responsible for Cold War. When did the world become
unipolar?

Answer: The US and USSR were responsible for Cold War. The world became unipolar in
1991 after disintegration of USSR.

3. What does USSR stand for?

Answer: Union of Soviet Socialist Republic.

4. When did NATO and WARSAW PACT come into existence?
Answer: NATO—April 1949

WARSAW PACT—1955

5. Mention the period of first and second World Wars.
Answer: First World War: 1914-1918

Second World 1939-1945



